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1. Let Qw W W X.
a) Express "Qin standard form.

Q(X) = ——x1+éx -1
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b) Sketch the graph of "Q
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c) Find the maximum or minimum value of "Q

lﬁaximum value 'lJ

d) Find the range of 'Q
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2. A graduation cap is thrown up with a velocity of 20 ft/s. Its height after O
secondsisgivenby®w ¢ T p @ (infeet). What is the maximum height
attained by the cap?
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3.Let Qw 1T Yw o
a) Express "Qn standard 1‘@211
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b) Find the vertex of "Q
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c) Sketch the graph of "Q Be sure to plot the vertex and wintercept.
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d) Find the maximum or minimum value of "Q
l["\"mimum Vﬂlue : *ﬂ

e) Find the range of "Q
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5. Let "Qm -0 Cw o
a) Express "Qin standard form. (’q N
N
(
£ = 5 (x*-4x tH)+342
Multipl : Po(,'\“
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b) Find the vertex of "Q
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c) Sketch the graph of "Q Be sure to plot the vertex and wintercept.

8ly

vy - (nterc opt:
Clo)= -1 +10)+3
=3

|

X

01234l/5678

8 7 6 5 4 -3 -2{-1

o N b &b bk b N L o o N

d) Find the maximum or minimum value of "Q
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e) Find the range of "Q
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7.let Qw ow ww C.
a) Find the vertex of "Q
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b) Find the maximum or minimum value of "Q
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c) Find the range of "Q
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9. You have 300 ft of fencing, and would like to fence off a rectangular plot of land next to a straight
river. Assuming you don’t need to fence off the side next to the river, find the dimensions that
would maximize the area of your plot of land. What would the maximum area be?
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- . _=b =300
Verfex- Y'2—a= 727)17';

y = 300-2(375) =150

Dimensions '.IEO £ by 75 £t
Mox area: (150)(75) =|l1250 Q*j
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11. A Precalculus book is thrown up and off the top of a 100-foot building (don’t get any ideas!). The
height of the book O seconds after throwing it is given by the function Q0

PTITOD P @
(in feet). What is maximum height attained by the book? When does this happen?
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